Ykl 9K Ei1ln HF2ZMWT AL BBRE(504) (¥Rl 9FE 78 Eh] LSS ERBFHES
Ce4 25 R BEE D 75
e HH
(1)i3x*4+(a—2)x°+x—4
P =1
(2 —Bx*+7x~10
(3} _xlzy”r
2 F ol 3 OVT T DEME LS.

(4) D6 a*+7ab—3hb?

@27a*+80b° 2 (B2 PN ORE RE) 3 GEFR T EED
@a*+3a:b+3ab®+b® (1) (7) (1) [ A= {1, 2, 3, 4, 6, 12}
@a?+2ab+b?*+6a+6b+9 (2) [Wx=z1 @B= {5, 10, 15, 20}

(5 |D(3x—1)° Dx < 2 (2) {®AUB={1, 2, 3, 4, 5, 7, 8}
@(3x+2»(3x—2y) @x>2 @ANB= {1,2,3,4,6,8,9,10}
Gx+2)(3x—1) (3) |[W3<x<5 @HANB= {1, 2, 4, 8}
@D(z2x+1)(4x°—2x+1) @zrz2 (3) Dn(AUB)=14
G(a+b)kx+y (4) |[Dx=1, 2 @On(AUB)=16

(6) 13 245 @ ,.3t¥13 (4) | Ti&Y

2

(Y |7 =43 (5) [6L7 (5) 4 8@Y

(8) 1|7 () i—1, —2, —3 (6) 6 O@D

48X 158=6048 ( -y 4mx10B=40/m 48X10M=40R ( A)

Ba ( ) B AL

(1) (a—2)x2 SN TWREWVWESIE2 K DEes { ), EZolo [L1 2dnEzA

it p 4 QTa=]Tn(A)=] 2L THHA




